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a)

b)

5 cm AB

a) 5 cm A 50°

b) B 130°

c) 7cm 90° 

A B5 cm

A B7cm
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a) 6 A B A 50° B 70°

b)

c) C C 

A B C P Q

a) x + y + z  = ___________

b) A  = ________ (x,, y, z)

c)     B    = _______ (x,, y, z)

d) A +B +  ACB  = _______

180° 
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a) ABC

b) A = 40° B = 70° A + B  =  ______

c) A + B + C  =  _______

d) C 

A = 60°, B = 50°

a) ACB  =  ______

b) ACD  =  ______

c) A + B  = ______

AC, BD

a)

b) APC = 40° A=70° C, B,

BPD,D 

*   *   *   *

C

A B

D
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7 12

7 =12

5 + 7 = 12 

= 5

12 7

+ 7 = 12

= 12 - 7 = 5

7 12

- 7 = 12

= 12 + 7 = 19

512 728

211 120

17 100

18

x 2 = 18

9 x 2 = 18

= 9

18 18

 = 18 2 = 9
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18

18. 18

= 182 = 36

3 75

1
3

75

12 720

21 315

= 58

2 + 8 = 58

2

 2

- 8

+ 8

  2
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2

- 8

+ 8

x 2x + 8

2

- 8

+ 8

  2

50

25

50

58

3

- 5

+ 5

  3

3 x

x

3 x

3 x + 5

3

+ 5

- 5

  3

3 x

x

3 x

3 x - 5

2 x

2 x  2
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  4 - 1

12

3
  2 + 1

x

x

2

x

2
  4 + 5

28

7

4 + 7

11

44

3 + 12

42

11 + 8

118

110
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2x + 1 = 17

7x - 1 = 24

x

2
 + 3 = 111

x

4
 - 15 = 5
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AB 

A 6 cm

AC

B C

a)

b)

c)

d)

B, C

D
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a) 

b)

c)

d) 

a) B + C

b) A + B + C 

c) A

a) P + Q

b) P + Q+ R

c) R

S

QP

R



15

AB = AC, A = 400 

a) B + C 

b) B 

c) C

OA

O OB

AOB

AOB = .........

AO C

COB 

COB = .........

AOB + COB = .......
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*   *   *   *
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1 + 2 = 2 x 1 + 1

2 + 3 = 2 x 2 + 1

3 + 4 = 2 x 3 + 1

.....................................................

.....................................................

(2 + 1) + (2 - 1) = 4

(3 + 2) + (3 - 2) = 6

(3 + 1) + (3 - 1) = 6

(7 + 4) + (7 - 4) = _____

(10 + 3) + (10 - 3) = _____

(100 + 61) + (100 - 61) = ______

(1000 + 867) + (1000 - 867) = ______

(x + y) + (x - y) = ______

18 2

99 1

199 1

78 62

n 2n

n 2n
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n 2n + 1

n 2n - 1

n n + 1

n n - 1, n, n + 1

n n - 2, n, n + 2

n n - 2, n, n + 2

n n - 2, n, n + 2

n (n + 1) + (n + 2)

a.

b.

c.

n n - 1, n + 1

a.

b.

c. n - 1 n + 1

d. n - 1 n + 1

a. 10 n + m

b. 10 n - m

c. nm

d. mn

10 n + m

a) n, m

b) m

c) m

d) n m
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8

3 5

1 2 3

2 3 4 5 7 9

36

7 9

8 9

4 9 14
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25

52

25 + 52 = 77

*   *   *   *
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i)

ii)

=

=

= %

iii)

=

=

= %

iv)

=

 =

=

= %

 

I = PNR
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=  

=  

=

=

=

=

=  

=

=

=

=

=

=  

=

=

=

*   *   *   *
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AB = DC,  AD = BC

AB  DC,  AD  BC

A = B =C =D = ______________

M

D

A

C

B

M

D

A

C

B



24

               AB  DC

180°

A + D =  180°

B + C =  180o

M

D

A

C

BA

D C

B

M

B

CD

A
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ABCD AD = BC

a A = 50°    B = __________

b A + D = __________

c C = __________

4 cm

*   *   *   *

 

B

CD

A
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25

1
1

100

1
25

100
 1

4

50
50

100
1

2

20
20

100

75

40

60

1000 

1 
1

1000

250
250

1000
1

4

500
500

1000

750

300 

450
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(a)

 2 : 4  =  1  :  2

(b)

(c)

(a)  20,  30

(b)  12, 15

(c)  12,  18
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10 25

6 9

5 1 : 3

20 3 : 5

14 2 : 3

5 : 7 15 

a)

b)

(i) 3 : 1 (ii) 1 : 2 (iii) 1 : 1    (iv) 5 : 1

6 : 10 = 3 : 5;

6 : 8 = ............

 = ..............

  = ..............

*   *   *   *
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= 

= ........  ..........

= ........

= ½  ........  ..........

= ........

a)

b) ABC 

c)
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b)

c)

a)
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d)

e)

*   *   *   *
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x, y x < y  x – y= – (y – x)

(a) 10 - 15 =  - (15 - 10) = -5

(b)    7 - 9    =  -(9 - 7)     =  _____

(c) 8 - 11 =    _____

(d)   15 - 20 =  _____

(e) 50 - 100 =  _____

(f) 10 - 17    =  _____

x, y -x + y = y - x

(a) -5 +  9  =  9 - 5  = 4

(b)    - 10 + 8       =  8 - 10  =  _____

(c) -10  + 11   =    _____

(d)    -10 + 7  =   _____

(e) -15 + 9  =   _____

(f)  -30 + 20   =  _____
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x, y -x - y = - (x+y)

(a) -3 - 5 =  -(3 + 5) =    -8

(b)    - 10 - 8 =  -(10 + 8) =    _____

(c) - 8 - 7 =    _____

(d)    -10 - 15 =   _____

(e) - 5 - 20 =   _____

(f) -30 - 20 =  _____

*   *   *   *
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a)

b)

c) 8A

d)

8A

8B

8C

8D 33

8E 30

8A 8B 8C 8D 8E
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8A

8B

8C

8D

8E

*   *   *   *

8A 8B 8C 8D 8E


